MCR3U WS - Transformations of Functions Mar 8, 2011

State the transformations and apply them to the provided parent relation (dotted line):
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y=3 El(x+2)_4 ,or y=3f §(x+2) —4 Y="13 -2, 0r y==-3f(x-3)-2
1. wvertical scaling by 3 or vertical stretch by 3 1. vertical reflection in the x-axis
2. horizontal scaling by 2 or horizontal stretch by 2 2. vertical scaling by 3 or vertical stretch by 3
3. shift left by 2 3. shift right by 3
4. shift down by 4 4. shift down by 2
(x, y]=(2x-2,3 y—4] lx, )= lx+3,-3y -2
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WS — Transformations of Functions

State the transformations and apply them to the provided parent relation (dotted line):
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y=—2V~(x—4]+3,0or y==2 f[-[x—4)[+3

vertical reflection in the y-axis

vertical scaling of 2 or vertical stretch by 2
horizontal reflection about the y-axis

shift right by 4

shift up by 3

Nk W=

(x,y)>(—x+4,-2y+3)
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=—7+4 =2 +3)+4
y=—zt4,or y=2f(x+3)

vertical scaling by 2, or vertical stretch by 2
shift left by 3

shift up by 4

lx, y)=(x=3,2y+4]



MCR3U WS - Transformations of Functions Mar 8, 2011

State the transformations and apply them to the provided parent relation (dotted line):
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y=2f(x-2)-3 y=fl=(x+3)]+2
1. vertical scaling by 2, or vertical stretch by 2 1. horizontal reflection
2. shift right by 2 2. shift left by 3
3. shift down by 3 3. shiftup by 2
(X:Y)_’(x+252y_3) (x’y)ﬁ(_x_3’y+2)
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State the transformations and apply them to the provided parent relation (dotted line):

r controls

y==2f El(x+1) +3 y=—;f(—2x+9)—3

vertical reflection in the x-axis o 3 9
vertical scaling by 2, or vertical stretch by 2 Write in standard form: y= B =2 x- B -3
horizontal scaling by 2, or horizontal stretch by 2

Nk W=

: 1. wvertical scaling by 1.5, or vertical stretch by 1.5
Sﬁltf{ leftbby3l 2. horizontal reflection in the y-axis
shittup by 3. horizontal scaling by 0.5, or horizontal compression by 2
4. shift right by 4.5
x, )= (25 =1,-2 y+3) 5. shift down by 3

(x,y)=(-05x+45,15y-3|

rev Mar 4, 2011 Page 4 of 6



MCR3U

WS — Transformations of Functions

State the transformations and apply them to the provided parent relation (dotted line):

y=3 f[—(x-2)]+4

1. wvertical scaling, or stretch, by a factor of 3
2. horizontal reflection in the y-axis

3. shift right by 2

4. shiftup by 4

(x, p)=(=x+2,3 y+4]
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r~ controls

y=—3fl—;(x—l)l—l

vertical reflection in the x-axis
vertical scaling, or stretch, by 3
horizontal scaling, or stretch, by 2
shift right by 1

shift down by 1

(x,y)—>(2x+1,—3 y—l)
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MCR3U WS — Transformations of Functions

State the transformations and apply them to the provided parent relation (dotted line):

=1 r~-controls

y=—f[2(x+3)]-4

1. vertical reflection in the x-axis

2. horizontal scaling by 0.5, or compression by 2
3. shift left by 3

4. shift down by 4

(x,y)—>(0.5x—3,—y—4)
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r~ controls

y=2f(——;x+3)—1

1
Write in standard form: y=2fl—5(x—5)]—l

vertical scaling, or stretch, by 2
horizontal reflection in the y-axis
horizontal scaling, or stretch, by 2
shift right by 5

shift down by 1

Nk =

(x,y)=(—2x+5,2y—1)
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